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1. 'X1, · · · , Xn
×àãN (θ, θ2)5µX®ß��^øÍ, θ 6= 0��®θ��n�
5Ù��ÎÍD3?

2. 'X1, · · · , Xn
i.i.d.,|N (µ, σ2)
Í�!5µ, Í�n ≥ 2, µ
Îá��Xn =∑n
i=1 Xi/n, S2

n =
∑n

i=1(Xi − Xn)2/(n − 1)�ãσ2�¯G5µ
IG(α, β)�3h
×r.v. UÌ
bIG(α, β) 5µ, uÍp.d.f.


f(u) =
e−1/(uβ)

Γ(α)βαuα+1
, u > 0,

Í�α, β > 0
ðó��J��S2
n, σ2�¯¡5µ


IG(α + n/2, ((n− 1)S2
n/2 + β−1)−1)�

3. 'Xb�r���NB(r, θ)5µ, 0 < θ < 1, r
×�á�ÑJó��5½O(i)

θ−1, (ii) θ−2�×��£���

4. 'X1, · · · , Xn
×àãN (µ, σ2)5µX®ß��^øÍ, n ≥ 2�

(i) 'σ2�á, �µÎá, �Oµ�×UMVUE;

(ii) 'µ�á, �σ2Îá, �Oσ2�×UMVUE;

(iii) 'µ�á, �σ2Îá, �Oσ�×UMVUE�

5. 'X1, · · · , Xn
×àãP(λ)5µX®ß��^øÍ, λ > 0�kOθ = P (X1 =

0) = e−λ�UMVUE�

(i) �0�×�n�5Ù��T ;

(ii) ¿àI{X1=0}
θ�×��£��, |O�UMVUE;

(iii) ¿à0×TÝÐóh(T ), ��E(h(T )) = θ, |O�UMVUE�

6. 'X1, · · · , Xn
×àãp.d.f.f(x|θ) = θxθ−1/(1 + x)θ+1, 0 < x < ∞, θ > 0, X®

ß��^øÍ��5½O(i) θ−1, (ii) θ−2�×UMVUE�


